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BEfEAEH B :20184£06 H 13 H (K) HZEY XY AR —INT T
JEAT SN K4 FR 3k 30 GROSS HDCP NET =
1 | B 33 33 66 66. 0
2 H BT 34 33 67 67. 0
2 | K¥ HE 35 32 67 67.0
4 |B% & 35 33 68 68. 0
4 1Bk RFFE] 34 34 68 68.0
4 |/hNEFHE = 35 33 68 68. 0
4 EfE KHE 35 33 68 68.0
4 |RZF0 #EIKRER 32 36 68 68. 0
9 |HM 1R 35 34 69 69. 0
9 |BEH w2 35 34 69 69. 0
9 | KER FZ& 32 37 69 69. 0
9 |fEls meEs 34 35 69 69. 0
9 |/ HE 36 33 69 69. 0
14 HgHE AA 34 36 70 70.0
14 & B4 35 35 70 70. 0
14 |28H —85 36 34 70 70.0
14 [Pl £H< 37 33 70 70.0
18 | RAALR EAT 36 35 71 71.0
18 /AR —Tik 36 35 71 71.0
18 |3k Hisk 37 34 71 71.0
18 |Fe3e Hifs 38 33 71 71.0
I IEN| 36 35 71 71.0
18 |JFJI1 JeHl 36 35 71 71.0
24 |7 HE& 38 34 72 72.0
24 |\ RiE EH 38 34 72 72.0
24 B K& 33 39 72 72.0
24 WEHy wERE 37 35 72 72.0
24 |%R =K 37 35 72 72.0
24 [FnHE KRR 37 35 72 72.0
24 | ILUA KRR 35 37 72 72.0
24 | IEA 36 36 72 72.0
24 |\BEIR 1) 35 37 72 72.0
24 B £ 36 36 72 72.0
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BEfEAEH B :20184£06 H 13 H (K) HZEY XY AR —INT T
JIEAL SN K4 FR 3k 30 GROSS HDCP NET =
34 | B2 Hi 35 38 73 73.0
34 KA B 38 35 73 73.0
34 |RavH St 39 34 73 73.0
37 |HFH FniE 38 36 74 74.0
37 | AR = 35 39 74 74.0
37 "B T HE 39 35 74 74.0
37 |HEN: fEKEA 38 36 74 74.0
37 |JEF EN 37 37 74 74.0
42 |&ZH "2 40 35 75 75.0
42 \EE G 36 39 75 75. 0
42 |ERE B 37 38 75 75.0
42 | PG B 41 34 75 75. 0
42 |B& T 36 39 75 75.0
42 BRI FEHE 39 36 75 75. 0
42 |HE HEK 37 38 75 75. 0
49 |fefg 51T 38 38 76 76.0
49 |HE wih 38 38 76 76. 0
49 K&EE v 37 39 76 76. 0
49 |EA A 36 40 76 76. 0
53 /bR BSE 37 40 77 77.0
53 |[ArH AR A 38 39 77 77.0
53 [JLIE I 39 38 77 77.0
53 | B HHKHR 37 40 77 77.0
53 |/ Kl 37 40 77 77.0
58 |RiE R 38 40 78 78.0
59 |FE)II WA 36 43 79 79.0
60 |¥£H = 40 40 80 80. 0
61 |4 HERAR 44 37 81 81.0




